TAP 512-1: Nuclide notation
A periodic table may be needed

1 Write down the nuclear notation (
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 ) for:

(a) 
an alpha particle

(b) 
a proton

(c) 
a hydrogen nucleus

(d) 
a neutron 

(e) 
a beta particle 

(f) 
a positron.

2 Write down the nuclear notation (
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 ) for

(a) 
carbon 13

(b) 
nitrogen 14

(c) 
neon 22

(d) 
tin 118

(e) 
iron 54

Answers 
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(a) 
an alpha particle  
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(b) 
a proton 
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or 
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(c) 
a hydrogen nucleus 
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(d) 
a neutron  
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(e) 
a beta particle 
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(f) 
a positron. 
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(a) 
carbon-13 
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(b) 
nitrogen-14 
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(c) 
neon-22 
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(d) 
tin-118 
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(e) 
iron-54 
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